N of simulated tracks vs transverse vert position

N of associated tracks (simToReco) vs transverse vert position

TrackingParticles

0.95

=
o
w

Reconstructed TPs

1=

N of s!

imulated tracks vs z vert position

=
o

TrackingParticles

[y
o
N

M_VOU0T_R0O0000000T__Global

—WKETNeWOL D 1000t

o9

DQ
DQM_V0001_R000000001__Global

1072

107 1

10 10°
TP vertr (cm)

Ratiq|

L
mkFitOLD-checkDet12 —REC!

10 10°
TP vertr (cm)

N of associated tracks (simToReco) vs z vert position | |

N of simulated tracks vs.simPVz |

Reconstructed TPs

=
o
T

=0 =10 0

10 20 30
TP vert z (cm)

=
o
W

TrackingParticles

=
o
N

10

5

10 15 20
TP Sim. PV z (cm)

Rati

B3 -20 -10 0 10 20 30

TP vert z (cm)

| N of associated tracks (simToReco) vs. sim PV z |

Reconstructed TPs

°®10-6 6 4 20 2 4 6 8 10
TP Sim. PV z (cm)



	Contents
	Page 1


